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Whiteboards:
1. What is the angular resolution of the 100 inch (2.54 m) diameter telescope on the top of Mt Wilson?  (use 550 nm as the wavelength, 550 nm = 550 x 10-9 m) (2.6 x 10-7 radians)








2. What diameter telescope do you need to resolve two stars that are separated by 1.8 x 1011 m, but are 3.0 × 1017 m (32 LY) from us?  (use 550 nm as the wavelength) 
hint λ = s/r = (1.8 x 1011 m)/(3.0 × 1017 m)
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(Question B3, part 2 continued)

@

A space shuttle orbits at a height of 300km above the surface of the Earth. It carries
two panels separated by a distance of 24m. The panels reflect light of wavelength
500nm towards an observer on the Earth's surface.

The observer views the pancls with a telescope of aperture diameter §5mm. The panels
act as point sources of light for the observer.

() Describe what is meant by the Rayleigh criterion. 27
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